FLIE - 20 W35 525 ) B 2|

Ky HwE AEA Wk

ERBIXS ML




R AERBEREHERY

5 8 DUt ) g

RE® HE
BEA #K

EHRETRFHAR



G FEF 208 5

B R¥ZBFEHHRES
HIETENTHENE R,
nHE RFE
BEAx K
ERBTREHRMBIERST
TR RS 130 2
BRECED 200237 & 64104306
FEBE LB ETREITRE
LERBREERT R
FFa 787X10921/16 ENZK10.5 ¥ 261 T3
1997 4E 5 H45 1M 1997 45 A48 1 ReEg
Ep¥E 1 - 5000 Jf

ISBN 7 - 5628 - 0760~ 4/H » 92 M 12.00 5§



B4 1984 470 1985 £ ERKHB KA HHE T AFHIEE THHE KNP XEHHE AN,
ERFERARGEN L AR T RFHEN. A RERANEIAEE. 1987 £9 ALEE K AEH
R GA I RIEF B4T . “1991 £ B R HB T ok B TR AR F XER AR HFR A
FHFBHEARP U 1~4 RHECHT AR AIT—RA - 1~4 ZHAL k. wRT 1993 £F R
A, 1994 £ X T KFRIEWRERARNEAHMAIT AR, 1993 £4F AFRE W, A EER
ERATFHEFMFRANWFRIA, 1995 £7 ANH TH R THRAHFEMEE . H5 WAv
EHE. 1996487 AXAGTE - HTRRAWHF AR . HERLRAPELLRFE,

TER AFHELANRAAA R T AERERERANEN - RE T LA WAEHE R
HoRHT RENEREBHEAT WEFFAANERFAMAS D ERLE R EZ, H R
SEEES S SR

RNERG TR ERNAF K ERFFTTNER . ARR T ERNAE R BHERF K
HABRRWER L A5 TRERFASEEAELGERTIAS . RERRF AHAER S E
— (1995 A FuE (1996 FEANH,1997 4 1 F FF A6 e (8 R ) A S 3448 0 R A R B ¥
BARENS FRAXEEB L, ERREE LR P W CH L1994 £ 9 A I35t
BEEWALRAKE- KRR REF L RERRANHANEAZRENREE FHEN
WRE AN REANET AP ET R BRT AT AWK AREE. BRERNTLESR
WES ELERNE - RFR AL REBTEE PR AN R AN RERKNEE R4
ERXETERERAAERS ThEREFKNEE., REEAFRENLEARRBNARH
R WA R P E RSN ER AR ER R R E R T ERER 5o
HEEB AT ERREERER - ZXARBLE - RRE - BRENLEF A AW RHEAE
PREEEREFF NI AABRET EEAVE R BT AFREW AL EBETS T 2R
HABBREA AT .

AORAXETTHERE, URAUEFA - AEABRAM  RETEL, HFHABHYEH K
EEIMAL REURBEFTRY. oAk MWEEERE? OAF R ER. ¥IMEL¥
JRBATR FERNAEEANREFETEEET. A ELIFEBFER ERTEN X
Kbk EERFANFAL FHEE I ERUNEL Y - RAEER N B THIL.FHHR
Pk BREFE - BR—BAK R B 5B L H—BEXRTASH TUERE
PR RANEAE RS O RELE £, R R T T R ERTIOL T %
FEFREIHGREBRB. ZRHERREE CAE DRI ELRNNS. REGHEFBE YRR
BEBRHALL, B F T4 E R L% LR B LK.

BBA
1997 45 A



% & KA

RHEAWI AL ERBRBR A BRAT, ORA Bt 4 B HED A ¥ KEWRES AT
AR BITHSE HMAE L E SR

2FHUTERM AR HRATER.
-0 HE. EXARATZEHFNLERA. &%ﬁ%ﬁﬂl‘ﬂ’ﬁi XFERBMAT
B -BERANBEEFARARELEAFEBN . AELERERSWRFRM . BRT

ERE XS AFRPEA QBT HERZR - XBPWEE.

BB BURE. ABHEFT TEERE. SHdHE EXPNERE ZH04 K.
FUHL MPRER L REFXF.
BB MUBLEBLI LR AETERAEWXFLELER.
HFREENHRPALAR H P — BB RRRR XL ARAT RN, I RWMIFHEE.

W
1997 4E 5 A



RN REREBGETARINNAEHEE

£ &% Aei

BlEg M KAR

% Z OAHH FRF S
| K ¥ #EE K



nﬁﬂéﬁiﬂﬂﬁ*ﬁ"“"'"'""“'" sessoes
Test One GRAfE—) :

Tapescript And Explanatxon (iii%fﬁmﬁﬁxiﬂﬁ)""

Test Two G )

Tapescrlpt And Explanatlon (ii};)\c%*ﬂﬂiﬁxiﬁﬁ) ceerssesescrresuennes st asnareatnnce s
oo ceean - Aan

- 2D
- (25

Test Three (A=)

Tapescrlpt And Explanatlon (iﬁiiﬂﬁﬁﬁ%t%ﬁﬁ) eseacvesassesssate rtesecevse en et bree

BE BN B ERBIPER - verveeeee e
ﬁﬂﬁﬁ

Test 1
TESt 2 +reseeveeveserasesosasensnsarasennrssesecsonsoenssnonsyessnsssssoncssessacsacssssrssestesacssnsoase
N T T LT g
TOSE 4  wrevrevecrercerorecternesssornotnocsvessrnonsorntessnssnsenesreaensanaesornncsrosssesns e ensoces

Test 5
Test 6

TieSt 7 +eeveescncescsuvesnossocnossneoreoncnrenesnrssssoneneessstresnessoosasreonsernonsssenaags esasssenois
TlESL § wreveeccrosevennotaesonacnsannnrosenoensesroocssoossesssssssorsasnnesorsosencerossassrssenasennsonnann
TESt O  sovvevseroseseerenoresennrscnnossonsaneasesossonsnsrassssassass sescossrssnssensnesssasassressseenssns
TeSt 1) e voevessoscceoasoreotsocessssacessvossurseessenvessssssssssrsosnonssssssssnssssnesasssssarsansansans
S B T T T PP P T TP P AP IRR PP PRPLARRS

Test 12 sevversersesssarseresceccssvecsrccasccssorsosscassscea

Test IR IR T T T T T T R Y R T S PLE TN
Test 14 08 000 080 0080000800000 0csere PeT R seioNt ePOsEsee st aen ses ses see e
Test 15 - 005 000 000800000 000000000000 0000000r0 000000008000 0000000rc000ssen0 et tonser e one

ﬁMﬁEWﬁ§ﬁ1$

Test 1 R T R R R R L R R Ry R R Y
- (102)

Test 2 severeccecctccacerenscenctnrtsnsccrcctcnsacrnossseccccacssee

. B PP RS P PR
T@St 4 +overevrenrecaennenenmnsonrtneteantunatetrsereietotsotnantarssensenasasntenotntestonsintiraeeacenes
TTESE § seserneosoncsteonsanencessestncesnnsarsusssnsacsonsoracssonssssosssonasssrsansssssansssnenarnsnsaseans
TSt 6 +vcevessscescoscaescecansessesonsescoscancessonconssoncsocssnscenssons

Test 7 seeesooressccssasscscasscsssennsnnscnnsecas

Test e BT T T P
- (125)
- (128

Test L L T T T P T T T R,
Test 10

L R R R N IR YT

L Y L Y P P NI T

- (D
- (D

vees (5)

- (9
(13)

(38)

< (43)
RCY)
- (5D
+ (55)
- (59

(63
(67)
D
(75

- (79
- (83)

@87

- (9D

(95)

99

(105)
(108
112)
(115)
(118)
(122



Test 11
Test 12
Test 13
Test 14
Test 15

*ﬁ?ﬂﬁtﬂ*ﬁﬁ‘*%
Test 1 -

Test 2 ...‘.......-....- seeeas

Test 3 eeneenn

Test L
Test § eereencecscnnens

Test 6 sece-

Test T oeerecretrersattcttntenonosnaresneansnsnnnssnnos

TeStS"' *sssnesncnnann an
Test 9 L

Test 10
Test 11
Test 12
Test 13

Test T F N

Test 15

- (13D
- (134)
= (137)
+ (1400
ceee (143D

- (146
e (147)
- (148)
- (149
- (150)
- (151D
+ (152)
= (153)
- (154)
- (155)
-+ (156)
- (157)
- (158)
- (159)
+ (160D



—. WHEHRESH

Test One

RE—

Part 1 Listening Comprehension (20 minutes)

Section A

Directions;

In this section, you will hear 10 short conversations. At the end of each conversation, a question
will be asked about what was said. The conversation and the question will be spoken only once.
After each question there will be a pause. During the pause, you must read the four choices
marked A), B), C), and D), and decide which is the best answer. Then mark the corresponding

letter on the Answer Sheet with a single line through the centre.

Example.

You will hear:
Man; Is it possible for you to work late, Miss Grey?
Woman Work late? I suppose so, if you really think it’s necessary.

Question:  Where do you think this conversation most probably took place?
You will read ;

A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

Sample Answer [A] [B] [C] [D]

From the conversation we know that the two were talking about some work they have to finish in the
evening. This is most likely to have taken place at the of fice. Therefore, A) * At the office’ is the
best answer. You should choose answer [AJ on the Answer Sheet and mark it with a single line
through the centre.

Now listen and do the test in the same way.

A) The man wants to go to Los Angeles.

B) The man wants to go to San Francisco.



10.
__2_

C) There are no flights to Los Angeles for the rest of the day.
D) There are two direct flights to Los Angeles within the next two hours.

A) He enjoys writing home every week.
B) He never fails to write a weekly letter home.
C) He doesn’t write home once a week now.

D) He has been asked to write home every week.

A) Because she has got an appointment.
B) Because she doesn’t want to.
C) Because she has to work.

D) Because she wants to eat in a new restaurant.

A) The teacher postponed the meeting.

B) There won’t be a test this afternoon.

C) The students will be attending the meeting.

D) The students will take an English test this afternoon.

A) On the whole, she likes the film.

B) She didn’t see the film.

C) The film was very exciting.

D) The film wasn’t as good as she’d expected.

A) Around 5 : 00. C) At 2: 00.
B) Around 3 : 00. D) At 1: 00.

A) He had to work overtime.
B) He was held up in traffic.
C) His car ran out of gas.

D) He had a traffic accident.

A) John Smith isn’t in right now.

B) John Smith can’t come to the phone right now.
C) John Smith doesn’t want to speak to the caller.
D) The caller dialed the wrong number.

A) Yesterday. C) Two days ago.
B) Three days ago. D) Early last week.

A) She got up later than usual.



B) The bus was late.
C) She forgot she had classes.

D) Her clock was slow.

Section B

Directions
In this section, you will hear 3 short passages. At the end of each passage, you will hear some
questions. Both the passage and the questions will be spoken onl y once. After you hear a question,
you must choose the best answer from the four choices marked A), B), C) and D). Then mark

the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) 4000 years ago. C) 2000 years ago.
B) 3000 years ago. D) 1000 years ago.

12.  A) The small bowl was put above the large bowl.
B) The large bowl was put above the small bowl.
C) The small bowl was put inside the large bowl.
D) The large bowl consisted of two equal parts.

13. A) Horsemen. C) Drops. of water.
B) Brass doors. D) Metal balls.

Passage Two '

Questions 14 to 16 are based on the passage you have just heard.

14. A) They are the most attractive women in Britain.
B) They are the most popular film stars.
C) They are the first women news announcers on British television.
D) They appear almost every night in TV plays.

15. A) At 10 in the evening.
B) At 9 in the evening. '
C) At 9 in the morning.
D) At 10 in the morning.

16. A) People still talk a lot about it.

B) Fewer people watched Susan’s program from then on.



C) Anna’s photographs appeared frequently in the newspapers.

D) The number of viewers of her program that day increased by millions.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) It is completely flat.
B) It has few rivers.
C) It has many%arge lakes.
D) It is hilly.

18. A) The soil has been overworked.
B) The climate is cold.
C) The weather is too dry.
D) The soil is sandy.

19. A) By raising cattle.
B) By working on farms.
C) By working in factories.
D) By raising.

20. A) At school.
B) From their parents.
C) From books.

D) In factories.

t



Tapescript And Explanation (Test One )
RENFMERERHEHR CLF—)

Section A

M Excuse me. Will you please tell me when the next flight to Los Angeles is?
W:  Sure. The next direct flight to Los Angeles is two hours from now. But if you do not
mind transferring at San Francisco, you can board now.

Q:  What do you learn from this conversation?

EBERE (Al . B)TUEXE S B LEE XA MR REPLA TR E TEX. COM
D)ighi#t 7 X EH L LHEREE. WENRME TE - MEEENRE, HeeZFR.

W: How often did you write home?

M: 1 used to write home once a week.

Q:  What do you understand from the man’s ansWer?

ERERE [C] . AXBSHEF, BEEE used to” . THER “SGEL2EMTMBERE
BEFHEE. TECHALAXEMERNXE.

M:  The Students’ English Club is holding a party on Saturday night. Can you come?
W: I would like to, but I work at a restaurant on weekends. )

Q:  Why can’t the woman go to the party?

EfERE (C] . MEFRARD AL, BRMES S ke BEBHE. D)
TZERBMW. %E:Z&XTIE‘*ﬁﬁ&ﬁﬂ?ﬁﬁ_ﬁ‘%ﬁﬁiz‘ﬁﬁﬂﬁﬁﬁﬁ “but I work

at a restaurant on weekends”,

W  Shall we have an English test this afternoon?
M: It is postponed because the teacher has to attend a meeting.

Q:  What do we learn from this conversation?

ERERR [B] . REXMENER LHEETFSH—1 20 Efulﬁﬁﬁﬂ%ﬁt*ﬁk%
ATEXAEN S VGEMRE TER. OTELIMSNLWRE WS ESMEW. D)H
W5 RERF. ‘ '

M: Did you like the film?

W: Not particularly. 1 was rather disappointed. I expected it’d be much more exciting.

Q. What can we learn from this conversation?

E%ﬁﬁﬁﬂﬂ MEFR LT RBETHE. BT SHYNKE, B A o R S B B B i 1
HEF. A) B) # O mERehif T E&. X i “disappointed " F1“I expected it’d be much more
exciting” & 4R ER4> .

__5_.



6. W. Bob, are you going straight home after school today?

M: No, I have a class until one o’clock. And after that I’'m going to spend a couple of hours
at the library before going home.

Q: When is Bob going home this afternoon?
EFERE [B] .Bob ZE—midh L RIRUE, RE BB BB ERFA/D, FUKBE=SES
AEIZK., NREEEFHEMF “until one o’clock”8; 3 “a couple of hours” , 5k A AT BEVE H B 48R
H '

7. M: If the traffic wasn’t so bad, I could have been home by six o’clock.
W:  What a pity! John was here o see you.
Q:  What happened to the man?
ERERR (B], RFTHE AR 3SR » 35 P 9 5B IR BETE A A LB I 2 LI 3K
BAERF John, BYFTH  was held up” i % 1B H“ 2", REREEM M B) I H JF S
“could have been home by six o’clock” ;X—*&}ﬂ}ﬁ%ﬂfﬁﬂgﬁ‘ﬁg,?ﬁ%ﬂitﬂﬂ{ﬁﬁﬁgﬁﬁ,

8. M: Hello, may I speak to John Smith, please?

' W: Iam sorry. Nobody by that name works here.

Q:  What do we learn from this conversation?
ERERR (D] . ARIEXS I P 20 B 15 3 AR A B B A B 4% 20 John Smith. B LA
OB +—EREE T BiEEH, X B, “nobody by that name” { R BR“BA WX EF
MA” FERBIEEES.

9. M: Have you seén my brother?
W: No. I havén’t seen him since the day before yesterday.
Q:  When did she last see the man’s brother?
EWERR [C] . “the day before yesterday” f#98 BAM K, TRRI A TFFRMIERE. B)
T DI 5 B 3 R B 6 o TR 4 2 O -

10. M: Nancy, why were you late today?
W: I overslept and missed the bus.
Q:  Why was Naney late? T ,
IEBERR [A] . “overslept” gL, BIAVBEEER T AR ENEEL RS
X MAREFRE Hibl B IR R. CYIH D) WA ZEXTE PR A A 128), B
R, i

Section B

Passage one

The water clock was an ancient clock. It could be used on cloudy-days at night and indoors. Such

__6_
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clocks were probably first used in Egypt about 2000 BC. They were also used for many years in
Arabia, India, China and all of Europe. The simplest water clock needed just two parts, a small
bowl and a large bowl. The small bowl had a tiny hole in the bottom, the large bow] was divided
into equal parts and marked by lines. Water was poured intovthe small bowl and it fell slowly
down into the large bowl in tiny drops. Usually it took an hour for the water to rise from one line
to the next in the large bowl. A beautiful water clock was made in Persia over a thousand years
ago. It was presented as a gift to the Emperor of France. This water clock could be heard as well
as seen. The dial of the clock was made up of twelve doors, each representing an hour. Every
hour, a door opened and the proper number of metal balls dropped onto a thin brass. plate to
strike the hour. At twelve o’clock, twelve tiny horsemen came out and shut all the doors. This

was probably one of the first striking clocks.

Q 11: When was the first water clock probably made? :
ERERRE (A . BEFESCHT, BERK KA RAEATH —TELEA, B EBVE—
BT E, B A TR = T4 LA B = F4E,
Q 12: What do we know about the structure of the simplest water clock? EWHERR[A]. &
XHHXHE—%5]: “Water was poured into the small bowl and it fell slewly down in the large
bowl in tiny drops. ” EiiXAJiE, AT LAMEH S REEL, KRET ..
Q13:What did the striking water clock use to strike the hours? . . = -
ERERE (D] . EXPHXHE—4]: “Every hour, a door gpened and the proper number of
metal balls drop onto a thin vast plate to strike the hour. ”%#% A)TRBBRI R TE . B)E Y
FPRAERK.COOTWhMTRE. SR P

Passage Two
The two most famous faces in Britain today belong to two women; who appear on television
almost every night. If you open any popular magazine or newspaper,“you'll almost eertainly see
an article about one of them with lots of photographs. Their names are Susan Ribbon and Anna
Ford. Susan reads the nine o’clock news on BBC Television. And Anna reads the tén o'clock on
Independent Television. Most news annoﬁncers on British television are men. : And when Susan
began her job at the BBC three years ago, she was the first woman ngws dhnouncer. Newspapers
and magazines started to take an interest in her. And reporters started to write about her. Last
year Independent Television also decided to have a woman news announcer. And they chose
Anna Ford. Newspapers and magazines showed a great interest in her, too. When Anna read
the news for the first time on the ten o’clock program, millions of people who don’t normally
watch the program decided to watch it that night to see Anna Ford.

Q 14: Why are Susan Ribbon and Anna Ford very well - known in Britain?

REFXEZERRNER, FRERE [C]. HEERBMAhETREE.
Q 15: When does Anna read the news on TV?

JF 3 %%%%:“Anna reads the ten o’clock on Independent Television (every night) 7, FFpL
' ' — 7 —



EHMERRZ (Al . B)IR Susan #EFRTIE.COFI D)IRERR L4 AyatE, B LR IRAY .
Q16: How do-we know that Anna’s appearance on TV was a big attraction?
FHREERRE (D] . EMNEBEXEMNEE — /A1 “Millions of people who don’t normally

watch the program decided to watch it that night to see Anna Ford”,

Passage Three
New England is an area of mountains, valleys and rivers. It is said that in New England, one is
always climbing hills. A large part of New England is also made up of farms and farming lands.
Yet New England is not really a farming area. The farms are small. Generally they are only large
enough to support one family. It also happens that the soil of New England is not good. This soil
has been worked and planted for so many years that it has lost its value. Most New Englanders
today work in factories or small businesses. In these factories they make watches and clocks,
shoes, clothing, special tools for industry, leather goods, etc. New England workmen are

famous for their skill in making many of these things. This skill is often passed down in families
from father to son.

Q 17: What is the main feature of New England?

R Y8 X E Prift: “New England is an area of mountains, valleys and rivers”,and “one is always
climbing hills”, F#%%E [D] . %#& A5 JESCH A B I b ) “rivers” 2 ST o 31,
E#&?ﬁ“?ﬁ]mﬁﬁﬂ"”ﬂﬁﬁﬂ,C)Iﬁmﬁ,ﬂ.ﬁ!&)‘cﬁqﬂ‘&ﬁ&@h

Q 18 :Why is New England not good for farming?

ERERRE [(A] , HX X HE T “the soil of New England is not good,” “This soil has been

worked and planted for so many years that it has lost its value” . B FEI A B B7E G
#3.

Q 19: How do most people in New England make a living? :
IEREERR [C]. XxHERB . “Most New Englanders today work in ‘factories or small

businesses”, c
Q 20: Where do New Englanders learn many' of their skills?

X HHRF)| - “This skill is often passed down in families from father to son”, U FfgRE[B].
- HEBRBRNEBERSCPHRER. iX B 5 448 “pass down” fy& &,



Test Two
RE—

Part 1 Listening Comprehension (20 minutes)

Section A

Directions )
In this section, you will hear 10 short conversations. At the end of each conversation, a question
will be asked about what was said. The conversation and the question will be spoken only once.
After each question there will be a pause. During the pause, you must read the four choices
marked A), B), C), and D), and decide which is the best answer. Then mark the corresponding

letter on the Answer Sheet with a single line through the centre.

Example;

You will hear:

Man. Is it possible for you to work late, Miss Grey?

Woman: Work late? I suppose so, if you really think it’s necessary.

Question:  Where do you think this conversation most probably took place?
You will read :

A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

Sample Answer [A] [B] [C] ([D]

From the conversation we know that the two were talking about some work they have to finish in the
evening. This is most likely to have taken place at the of fice. Therefore, A) ‘At the of fice’ is the
best answer. You should choose answer [A] on the Answer Sheet and mark it with a single line
through the centre.

Now listen and do the test in the same way.

1.  A) She paid $ 40. 00 for the coat.
B) Her husband presented it to her as a gift.
C) She bought the coat on her fortieth birthday.
D) Her friend sent it to her as a birthday gift.

2. A) To keep his old car and get a new one.
B) To leave it in the garage to be repaired.



